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&5 :28
2 ¥ BAELELERE  20mx 20m 1H LY
2 b g - BIRTE BT H = B Ol ® W = " =
B IERERE fE LS L—2Ad (#120 x 20m#R)
= 1.00 1, 236, 000. 00 1,236, 000
& Hi 1E%HeN - 1. 00& 1, 236, 000. 00 1,236, 000
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T FEBRZEEKIERTEEIR

&5 :29
B HAEMEREE 20m x 20m 1Ry
£ 5 L - BIRTiE BAf = B & % = " =
AL EE BE LY L—2sAd (#5120 x 20miR)
H 1.00 1, 060, 900. 00 1,060, 900
& Hi 1E%HEN - 1. 00& 1, 060, 900. 00 1,060, 900
&5 :30
¥ BALZERE  20mx20m  H=10m 1LY
£ 5 L - IRTiE BAf = B & # = " =
BB 20m x 20m
= 1.00 494, 400. 00 494, 400
EEMLEE R 20mx 20m  H=10m
= 1.00 3, 360, 000. 00 3, 360, 000
& Hi 1E%HeH - 1.00K 3, 854, 400. 00 3, 854, 400
&5 : 31
2 EHEBIEESEE EHEIO0— ~ ¢300 (L260mxH3. Om, L80m x H2. Om, L80m x H1. Om) 120m¥ Yy
£ 5 L - BIRTiE BAf = B & % = " =
BB ILIERE BEES L—2rd
m 120. 00 6, 136. 00 736, 320
& Hi YEZERESD : 120.00m 6, 136. 00 736, 320
&5 :32
2 EEIEERE EHEoIO—  ¢300 (L260mxH3. Om, L80m x H2. Om, L80mx H1. Om) 120m¥ Yy
£ 5 L - BIRTiE BAf = B & % = " =
AN LERE BEES L—2rd
m 120. 00 5,720.00 686, 400
& Hi YEZERESD : 120.00m 5,720.00 686, 400

13




Rifiz -/ \v7r—o

T FEBRZEEKIERTEEIR

&5 .33
2% FAEMLEESHE EH{IN—k¢300, IRy TUA—ET 1LY
2 b g - BIRTE BT o = BHO(f ® W = " =
EEbIEES R
= 1.00 11, 516, 220. 00 11,516, 220
Froh—JovyiEH
= 1.00 71, 790. 00 71,790
& Hi 1YE%HeH - 1.00K 11, 588, 010. 00 11,588, 010
s34
&% FABLERTEE BLERSE (FEmbHY) 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
BB LR SR BLEESREERSHY) 100~500m K
[=] 28.00 32,421.00 907, 788
& Hi 1E%HeH - 1.00K 907, 788. 00 907, 788
5.3
L (TRERE 10-PRERMESRESE 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
(TiZIZERE yL—rtkE
& 7.00 212,160. 00 1,485,120
& Hi 1E%HeH - 1.00K 1,485, 120. 00 1,485,120
&5 .36
L (TR ERE 10-PRRMESRESE 1LY
2 b g - BIRTE BT #H = BHoO(f ® W = " =
(TR E yL—rtkE
& 7.00 187, 200. 00 1,310, 400
& Hi 1E%HeH - 1.00K 1, 310, 400. 00 1,310, 400
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&5 .37
L ATFEEE  10-PREHASRERE T 1LY
2 b g - BIRTE By = BHO(f ® W = " =
fTiRE {TFZ10-PR AR RREE
= 1.00 1, 756, 440. 00 1, 756, 440
HERE EHEOY
% 5.00 1, 756, 440. 00 87,822
& Hi 1YE%HeH - 1.00K 1, 844, 262. 00 1,844, 262
&5 .38
B REEEMO) FREIOH (BRIERE. LRIRAR) 1LY
2 b g - BIRTE By = BHO(f ® W E " =
ZEEEMm FRP D 180PS#Y
B 16. 00 118, 692. 00 1,899,072 8.00H / 10H
MR EXENOY
% 0.50 1, 899, 072. 00 9, 495
& B 1E%HeH - 1.00K 1,908, 567. 00 1,908, 567
&5 :39
£ REEEHRMQ2) FhESH 1LY
2 b g - BIRTE By = BHO(f ® W E " =
ZEEEMm FRP D 180PS#Y
B 264. 00 103, 814.00 27,406, 896 6. 00H / 8H
MR EXENOY
% 0.50 217,406, 896. 00 137,034
& B 1E%HeRH - 1.00K 27,543, 930. 00 27,543, 930
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= : 40
L BRE 1B34Y (21#hR)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 55, 130. 00 55,130 8H
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
MR 2E0%
% 1.00 177, 283.00 1,772
& B YEZRES - 21. 004 = 8, 526.00 179, 055
&5 M
&% . BKEE 1B%HY (1080.5m2)
2 b g - BIRTE By = BHO(f ) W = " =
Bk D 270PSE! 3~5tH
B 1.00 189, 096. 00 189, 096 8H
HEEEE Bk 203!
B 1.00 19, 470. 00 19, 470
MR 2E0%
% 3.00 208, 566. 00 6, 256
& B YEZERES - 1,080.50m 2 198. 00 214, 822
=)
£ KEREF () 5 57 Bk (EEHEA) HDIm3 x 1€ 14y
2 b g - BIRTE By = BHoO(f ] W = " =
KEREF
= 1.00 9, 040. 00 9, 040
& Hi 1E%HeH - 1.00K 9, 040. 00 9, 040
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&5 :43
&% KERERF Q) \iLEM (FEEX) #AD650m3TE x 3E B
£ £ g - BIRTE BT H = B O ® M = & &
KE R
= 1.00 13, 636. 00 13, 636
& Hi EZBER - 1. 00 13, 636. 00 13, 636
BS54
£ KERIRF Q) BAKEIMmx1%£ 1K%Y
£ £ g - BIRTE BT H = B O ® M = & &
KE R
= 1.00 4,545.00 4,545
& &t EZHeH ;- 1.00x 4. 545,00 4 545
&S5 : 45
£ BERIRH BKE GBKEDR) B
£ £ g - BIRTE BT H = B O ® M = ik &
EERKRH
= 1.00 2,721.00 2,721
& Hi 1EZBER - 1.00 2,721.00 2,721
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